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1. sec45°sin45° + cosec60°sin90° =
. .. 2 . 2 . , 2 . 24
(i) (1+2) (i) (1+-3\/3) (iii) (4+-3\/3) (iv) (—1+3\/3) (v) (1+-3\/3)
cosec 30°cot90° — tan30°sin90° B
sec45°sin30° — c0s90°cos0°
(i) (= 2V8) (i) (=2v3) (i) (-2vB) (V) (=2) (V) (== vé)
i) (== i) (== i) (== iv) (— v) (==
3 3 3 3
2 2
sin 5° + sin 85°

3. 5 5 =
cos 40° + cos 50°

(i) 1 (ii) -1 (iii) undefined (iv) 2 (v) O

sin25°co0s65° + cos25°sin65°
" 5in30°co0s60° + cos30°sin60°

(i) 0 (ii) 2 (iii) undefined (iv) -1 (v) 1

2

1+ tan 6
> 2 T

1+ cot ©

. 2 . 2 ) 2 2
(i) cosec © (ii) 1 (iii) sec ® (iv) cot © (v) tan ©

5 (1 +sinB)(1 —sinB)
6. If cotb = -3 , find -
(1 —cosB)(1 + cosH)

(i) 2 (i) 2 (iii) 4 (iv) : (v) -
g ) 5 (i) (v o (V)

(1 + cosO)(1 —cosH)

7. If tanB = %,find
(1 +sinB)(1 —sinB)
(i) - (i) (i) (iii) ! (iv) : (v) -
[ > ii 7 iii 6 iv 4 v 4
(1 +sin®) (cos)

8. Find the value of - + -
(cos®) (1 +sin®)

(i) 2cos6 (ii) 2sec6 (iii) 2cosecH (iv) 2sin6



2 2
9. Find the value of 10sec 6 — 10tan ©

10.

11.

12.

13.

14.

(i) 1 (i) O (iii) 13

(iv) 8 (v)

10

Find the value of (1 + tan6 + secB)(1 + cot® — cosecb)

(i) 3 (ii) 4 (i) (-1) (iv)

Find the value of (cosec6 — cotf)

1 — cos®

(i)

1 + cos©

(i)

(iv)

2 (v) 1
2
1 + cos©O 1 + sin®
(iii)
1 — cos© 1 —sin®

2 2
If tan® + cot® = 8 , find tan 6 + cot ©

(i) 59 (i)

63

(iii)

62 (iv) 64 (v) 61

2 2
If tan® — cot®6 = 4 , find tan 6 + cot ©

(i) 19 (i)

21

(iii)

17 (iv) 18 (v) 15

Which of the following are true?

a)

1 —sin®
(secB® — tane)2 =
1 + sin®
) .
1 + sin® cosO
+ - = 2secH
cosO 1 + sin®
cosO cosO
+ = 2
1 —sin® 1+ sin®
d) .
1+ sin®
(secB® — tane)2 =
1 —sinB
cosO cosB
+ = 2tan®
cosecH + 1 cosecH — 1
(i) {d,b} (ii) {c,a} (iii) {c,a,b} (iv)

{a,b,e}

(v)

1 —sin®

1+ sin®

{c,d,e}



15. Which of the following are true?

(sin® + cose)2 + (sin® — cose)2 = 2

secO 1 — cosecH

1 + cosecH secO
c) 3 .3 ) .

cos 6 —sin B = (sin® + cosB)(1 — sinBcosB)
d 2 .

(sin® + cos®)” = 1 + sin26
e) .

cosO 1 —sin®

1+ sin® cos6
f) 3 .3 ) )

cos 6 +sin B8 = (sin® + cosB)(1 — sinBcosB)
)

(sin6 — cose)2 = 1+ 5sin26

(i) {c,d} (i) {cfa} (i) {g,b,e} (iv) {b,a} (v) {adef}
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